oo 5“*'Eﬂﬂi7}95
x|, &2 B, JH2E LHE

Z= Moy/FIE o[0|x]

© HEINRICH KIPP WERK GmbH & Co. KG

1= AEI
[l

TJEZ

L= 2H|QII A AR QIEA
ks
HE &Y.

QA ZRME SH oz Qs &3 fIRI7F HetA =leE 2
o1oknr cte &
14 BIHE 0| 304

[=]
5t7| it A8 E et o 4%55 TSR E
= OlEoI‘ 2 OII/=|\|_||:|. o| (]
SLCH Blle7H Bl A 2
g fFR[EUCH
olx| 235 HAl 1Rz ofztol Elo =z £

EM OlF2]:

AR T

LIAL &2, 4™ ._§F el

&3 E, Fs ook L A AkgE M2l

AHIQIE|A AR HA:
LIAF €215, XHed™ ntF 2.
= E, ook 2 xHed™ oR 2.

HE, AMM e = AMS S Wz RAL3020.

IEC 21601 [H2 934 ALS 2, 2/} 160 C.
Et7| AHE 2, =|CH 250 C.

A
El‘—’-‘—%l-_ﬂ bk & =&
APQOH ’i‘!ﬂ

ey x-l

BH —

&2 Sl ALE5t7|of Xgf.

HMIAE]:

AT 0|AM & K0665.

QA EHAXE XX | Ml 24 K1290.
U2 EES e 1Y A1| K2146.

MHE

2

[ ==

HU
o
on
Q'I_I
e
ro
o
I>

Kinn

=
A=
:I.

YxI
o
Sk

www.kipp.com - info@kipp.com 1/3



°
=ZalAEI] Al Ol= AEILCC= A A AE C =
=CAE] HA gH I = A8 E= AHQIRA AL OIHIA Z
py i =] (=) irs
=N
ﬁjf@ .
= i swi | ]
| |
: w :
I
;
-0,02
D-U,D4
D1
@
- A
Al
Z= Q0
FEHS EA A A= MA Ef A Al B B1 D D1 AEZ3 L L1L2SW1Fx30° A[E EfM
B2l S 2psl e
F1 2. NF2 2f. N
K2109.8105 AEl ad A 3174171791295 M10x1 5 30 87 13 13 5 12
K2109.8206 A& A4 A 31,641,717,9129 6 M12x1,5 6 34108 14 1,8 6 14
K2109.8308 AEl F=E3] A 55567,826,919,4 8 M16x1,5 8 4291210 19 273 14 28
K2109.8410 AE A A 53/467,826,919410 M20x1,5 10 49,91512 22 2.8 15 32
K2109.8105154 AEl AlSS Wz RAL3020 A 31,741,717,912,95 M10x1 5 30 87 13 13 5 12
K2109.8206154 AE ASS WZFRAL3020 A 31,641,717,912,96 M12x1,5 6 34108 14 1,8 6 14
K2109.8308154 AEl AlSS wWZFRAL3020 A 55,567,826,919,4 8 M16x1,5 8 4291210 19 2,3 14 28
K2109.8410154 AEl AES Wz RAL3020 A 53,467,826,919,410 M20x1,5 10 49,91512 22 2,8 15 32
K2109.18105 AEHQlEA AR A A 31,741717,912,9 5 M10x1 5 30 87 13 1,3 5 12
K2109.18206 AEIQIEA AE A A 31,641,717,9129 6 M12x1,5 6 34108 14 1,8 6 14
K2109.18308 2 EQlEA AE] Aad A 55567,826,919,4 8 M16x1,5 8 4291210 19 23 14 28
K2109.18410 AHQlEA AR A A 53467,826,919410 M20x1,5 10 49,91512 22 2,8 15 32
K2109.18105154 AEIQIE|A ARl AlSS WZFRAL3020 A 31,741,717,912,9 5 M10x1 5 30 87 13 13 5 12
K2109.18206154 AEIQIBA AEl ASS Wz RAL3020 A 31,641,717,912,9 6 M12x1,5 6 34108 14 1,8 6 14
K2109.18308154 AEIQIBA AEl A5 S Wz RAL3020 A 55567,826,919,4 8 M16x1,5 8 4291210 19 2,3 14 28
K2109.18410154 AEIQIBIA AEl AlSS Wz RAL 3020 A 53,467,826,919,410 M20x1,5 10 49,91512 22 2,8 15 32

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 2/3



© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



